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Credit Based Il Semester B.B.M. Examination, April/
( Repeaters — 2013-14 and Earlier Batches)
ENGLISH
General Proficiency and Communicative English

Time : 3 Hours Max. Marks : 80

PART -A

Answer any six of the following in about 100-120 words each. Each question
carries 5 marks. 30

1) What are the pictures from the gallery of history that Nehru opens up before
his daughter ?

2) What is social justice ? What does Chief Justice Bhagawati say about it ?
3) Which articles of the constitution deal with the directive principles ?
4) What are the miracles narrated by Mother Teresa to Kushwanth Singh ?

5) What according to Shri S.V. Giri are the challenges to achieve the target of
education for all ?

6) Explain the three kinds of help that Swami Vivekananda speaks about.
7) What does K.R. Srinivas lyengar say about Shri Aurobindo ?

8) Whatis the meaning of ‘Drama’ according to C. Rajagopalachari ?

9) Write a paragraph on M.S. Subbulaxmi.

. Answer any two of the following in about 200 words each. Each question

carries 10 marks. 20
1) What are the three things we must do inorder to maintain Democracy ?

2) What was the big set-back that Sathyajith Ray had to face while shooting for
Pather Panchali ?

3) How can national and emotional integration be promoted according to
Dr. V.R.K.V.Rao ?

4) What aspects of M.S. Subbulaxmi’s personality does Malini Sheshadri reveal
in her essay ? 0

5
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PART-B

Ill. A) Match the words on the life with their synonyms on the right. Each question
carries half a mark.

Retain Extensive
Solve Preserve

" Renaissance Unravel
Vast Revival

B) Match the words on the left with their antonyms on the right. Each question
carries half a mark. ‘

Freedom Rural
Truth Informal
Formal Falsehood
Urban Slavery

C) Fillin the blanks in each of the following choosing the right word from the
ones given in the brackets. Each question carries half a mark.

1) She did not my opinion (accept/except)
2) Raman has a pair of (shows/shoes)
3) We need to submit our application on time (forms/farms)

4) ltis necessary to oneself to changing circumstances.
(adapt/adopt).

D) Give one word substitute for the following. Each question carries one mark.
1) Worthy of praise and admiration.
2) Type of literature desceribing imaginary events.

E) Match the words on the left with their meanings on the right. Each question

- carries one mark.
Intervene Goal
Target Enter in between

Big task
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IV. A) Correctthe grammatical errors in each of the following sentences. Each
question carries half a mark. 2

1) |realised that | am wrong.

2) The fruits in this bag is not ripe.

3) She gave me a lot of informations.

4) We have to choose among these two designs.

B) Punchuate the following sentences. Use capital letters where necessary. (Each
question carries half a mark).

1) have you submitted your assignment
2) what a beautiful flower
3) college starts at nine Oclock

4) im sorry

C) Re-arrange the following sentences into a coherent paragraph. Un fline the -
sentence linkers.

1) So in any normal household one can see a variety of headaches.

2) Headache is essential for maintaining human relationships in working order.
3) Therefore we cannot do without it either at home or in the public.

4) Thus inorder to skip the home work, children plead headache.

D) Given below are some statements and questions. How would you respond to
them ? Choose the right response from the altimatives given against each of
them. (Each question carries half a mark). 2

1) Would you like to accompany me ? (of course, | will/No, | won't)
2) | hope you will prepare for your interview. (of course not/of course | will)
3) Our Law minister is very bold. (certainly he is /No, he isn’t)

4) | wonder if these problems will ever come to an end. (Yes, | too think so/you
are right, they have disturbed the civil society)

E) Combine the sentences using the clue given against them in each of the
following questions. Each question carries one mark.) ' 2

1) Attend the class regularly. You can appear for the examination. (use ‘if’)
2) Rajuis a good dancer. He will perform on the college day (use ‘who’)

é
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V. A) 1) Prepare a headline for the news item given below.

Four students from Bengaluru who entered the sea drowned in Malpe on
Saturday. According to the outlookers they intered the sea for a swim
neglecting the prohibitory orders issued by the police.

2) Interpret the following notice in a sentence or two.
No smoking.

B) Prepare an advertisement within a frame, with a logo, a slogan and the USP
forthe following product. Samsung is releasing a new mobile phone.

OR

Write a paragraph of five sentences using the topic sentence given below.
Hardwork is the soul of successful life.

C) 1) Write a report of about 100-120 words on the ‘blood-donation camp’
organised by the NSS unit of your college.

OR

2) Write a letter of 100 words to your principal urging him to permit your
students association to conduct a management fest in your college. You
are the President of Association of commerce and management.
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(2006 Scheme)
MANAGERIAL ECONOMICS

Time : 3 Hours Max. Marks : 80

SECTION-A
(One mark each)

Answer ariy ten of the following :

L

a) What do you mean by managerial economics ? (1x10=10)
b) Distinguish between implicit cost and explicit cost.
c) Whatis legal monopoly ?
d) Draw anisoquant.
e) Give the meaning of price discrimination.

f) Define marginal rate of technical substitution.
g) Whatis Delphi method ?

h) What is decision making ?

i) What do you mean by economics of scope ?

i) Whatis monopsony ?

k) What is opportunity cost ?

I) What is kinked demand curve ?

SECTION-B
(5 marks each)

Answer any five in not more than 2 pages each. (5%5=25)

©® N ® O BN

Explain the importance of the study of managerial economics.
Why is the short run average cost curve is “U” shaped ?
What is monopoly ? What are the characteristics of monopoly 7 , . ~

Write a note on capital budgeting. ,3 < { > :
Why sales maximization is considered as an alternative to profit rﬁ‘@&i}ﬁgatioﬁ 7

)\ 4
Explain the concept of marginal rate of technical substitution. ,,

What are the objectives of demand forecasting ? e
P.T.O.

>3
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SECTION-C
(15 marks each)

Answer should not exceed 6 pages each. (15x3=45)

9. Explain the cost-output relationship in the short run.
OR
Discuss the process of price and output determination under monopolistic
competition market.
10. Explain the nature and scope of managerial economics.
OR :
Explain the various economies and diseconomies of scale that arise in
business.
11. Discuss the importance of time element in the determination of price under
perfect competition.
OR-
Explain briefly different methods of demand forecasting.

5.
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Credit Based |l Semester B.B.M. Degree Examination, April/May 2015 _
- (2012 Scheme)
MANAGERIAL ECONOMICS

Time : 3 Hours Max. Marks : 80

SECTION-A

1. Answer toany ten questions in two-three sentences each : (1x10=10)
a) What is shut down point ?
b) Give an example for fixed cost.
c) Whatis Oligopoly ?
d) Draw a Total Variable Cost (TVC) curve.
e) State the meaning of demand forecasting.
f) What are primary data ?

)
g) Give the meaning of economies of scale.
h) Define capital budgeting.
i) What is meant by gross profit ? _
j) State the three stages of the Law of Variable Proportions (LVP).
k) What is Delphi method ?
)

I) What is a market ?

SECTION-B |
Answerany five questions in not more thantwo pages each ;/ ;, (5x5=25)
2. Bringout the features of monopolistic competition. ] f ; f.?f,'/ ; *;
3. Write a note on production function. J & ) £z ;
4. Discuss the importance of managerial economics. \"‘;‘L - A’ R o
P.T.O.
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5. Examine the equilibrium of a firm through ‘MC-MR’ approach.
6. Differentiate between cost control and cost reduction.
7. Describe the different types of cost concepts.

8. Explain the objectives of short run and long run demand forecasting.

SECTION-C
Answer should not exceed six pages each : (15%3=45)

9. What is perfect competition ? How does a firm attain equilibrium under perfect
competition ?

OR
Explain the cost-output relationship in short-run.

10. Describe the nature and scope of managerial economics.
 3bR

What is price discriﬁwination ? How does the price-output is determined under
discriminative menopoly.

11. Define demand forecasting. Explain different methods of demand forecasting.
OR

Examine various internal and external economies of scale.
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Credit Based Il Semester B.B.M. Degree Examination, April/May 2015
(2012 Scheme)
BUSINESS ENVIRONMENT AND ENTREPRENEURSHIP

Time : 3 Hours

Max. Marks : 80

Note : 1) Section A : Answer in one or two sentences each.
2) Section B : Answer in not more than 2 pages each.
3) Section C : Answer in not more than 6 pages each.

SECTION-A
(1 mark each) , (1x10=10)
1. Answer any ten of the following :
a) What do you mean by macro environment ?
b) What do you mean by business ethics ?
c¢) Give the meaning of entrepreneurship.
d) What do you mean by medium enterprises ?
e) State any two features of co-operative sector.
f) What do you mean by multinational corporation ?
g) What is consumerism ?
h) What do you mean by brand competition ?
i) What do you mean by technical risk ?
j) Give the full form of LPG.
k) Define social responsibility of business.
I) Expand WTO.

SECTION-B

(5 marks each) (5x5=25)
Answer any five of the following :
2. What are the merits of private sector ?
3. Explain the role of an entrepreneur in economic development.

P.T.O.
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10.

11.

Write a note on consumerism in India.
Explain the objectives of WTO.
Describe the features of MNCs.

Write a note on MSMEs.

What are the advantages of globalization ?

SECTION-C
(15 marks each) (15x3=45)

What do you mean by business environment ? Describe the external factors
influencing business.

OR
Explain the principles of business ethics and professional ethics.

Who is an entrepreneur ? Explain the characteristics of an entrepreneur.
OR

Narrate the various rights of consumer.

Describe the fgatures, merits and demerits of public sector. 15
=~OR
a) What are'the social responsibility of business towards employees ? 7

b) Pavan cigarette manufacturing company is sponsoring national reality show
of music competition. There is advertisement of its product in the television
channel which is watched by millions of general public so, it is likely to gain
the ‘attention of younger generation. And influence them to become their
customers.

In the light of the above, answer the following questions.

1) To what an extent, the Pavan manufacturing company can discharge its
social responsibility towards the safety and protection of consumers ?

2) How does it influence the younger generation ? Is it not injurious to the
society ? 8
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Credit Based Second Semester B.B.M. Degree E)gamination, April/May 2015
(2012 Scheme)—
ACCOUNTING - 1l

Time : 3 Hours Max. Marks : 80

Note : i) A single answer booklet containing 40 pages will be issued.
No additional sheets will be issued.
ii) Show working notes wherever necessary.

SECTION - A (One markeach)

1. Answerany ten of the following questions inone or twosentences each : (1x10=10)

a) What is Goodwill ?

b) Pass an entry for the decrease in the balance of sundry creditors at the time
of revaluation.

c) How do the old partners share the goodwill amount brought by new partner in
cash ?

d) How is the deceased partner’s capital account closed ?

e) State any two reasons for dissolution of a partnership firm.

f) What is meant by capital deficiency ?

g) What is meant by piece-meal distribution of cash on the dissolution of a
partnership firm ?

h) What is the meaning of consignment ?

i) How will you treat bad debts when the consignee gets del-credere commission ?

j) Give any two examples of Non-Trading Concerns.

k) What is a legacy ?

I) What is Revenue Receipt ?

SECTION - B (Five marks each) (5%5=25)
Answer any five of the following :
2. What are the differences between consignment and sale ?

3. State the differences between Capital Expenditure and Revenue Expenditure.

%lassify the following into Capital or Revenue Expenditure/Receipt,
a) X —Ray plant purchased by a hospital.
b) Subscription to newspapers.
c) Legacies received.
d) Receipt of Entrance Fees.
e) Subsidy received from the Government.

10
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5. Suresh, Naresh and Rajesh were partners sharing profits and losses in the ratio
of 2: 2 1. Suresh retires. His share in the business is absorbed by Naresh and
Rajesh in the ratio of 5 : 3. Find out the new profit sharing ratio of the remaining
partners and the gain ratio.

6. Roopa; Suma and Shubha are partners sharing profits and losses in the ratio of
2:2: 1. Their Balance Sheet as on 31-12-2014 was as follows :

Liabilities T Assets 4
Creditors 50,000 Cash 10,000
Bills payable 20,000 Bills receivable 15,000
Capitals : Stock 1,25,000
Roopa 1,00,000 Debtors 1,50,000
Suma 80,000 Furniture 50,000
Shubha 70.000 2,50,000
Reserve 30,000

3,50,000 3,50,000

Shubha died on 31-3-2015. Her dependents will entitle to the following :
i) Her capital and share of reserve on the date of death.

i) Her share of goodwill. The goodwill is to be ascertained on the two years’ purchase
value of the last three years’ average profits. The profits for the last three
years were :

2012-% 1,00,000, 2013-% 1,20,000 and 2014-X 1,40,000.

iii) Her share in the profits for the year 2015 till the date of her death. The profit of
2014 can be taken as the profit for 2015.

Ascertain the amount due to Shubha’s executors.

7. M. N and O were partners in a firm sharing profit and losses in the ratio of 2:: 1 : 1,
respectively. On the date of dissolution, their Balance Sheet was as follows :

Liabilities 4 Assets T
Creditors 28,000 Sundry Assets 80,000
Capital Accounts :
M 20,000
N 20,000
@) 12,000
80,000 80,000

The assets realised ¥ 68,000 and it was received in installments of ¥ 28,000,
¥ 20,000 and % 20,000. Prepare a statement showing distribution of cash under
surplus capital method.

" 8. Lion sent 100 bicycles costing ¥ 2,000 each to Tiger to be sold at his risk. Tiger
was to get for his services a commission at 6% on bicycles sold and was
reimbursed for expenses. Lion paid¥ 4,000 towards freight and insurance. Tiger
took delivery of consignment by paying X 1,000 for carriage and unloading and
¥ 2,000 for salesmen’s salaries, godown rent etc. Tiger sold 50 bicycles at
% 2,250 each for cash and 30 bicycles on credit atZ 2,400 each. Tiger settled his
account with Lion on 31% December, 2014. Prepare Consignment Account in
Lion’s books.

L]
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SECTION - C (Fifteen marks

Answerany three of the following :

Q/From the following particulars relating to BCM Hospital,
Expenditure Account for the year ended 31-12-2014 and Balance Sheet as on
that date.

Receipt and Payment A/c for the year ended 31-12-2014

Dr. - Cr.
Receipts ¥ Payments X
To Balance b/d 60,000 By Doctor’s honorarium 30,000
To Donations 4,00,000 By X-Ray equipment 2,50,000
To Fees from patients 1,50,000 By Salary 10,000
To Receipts from sale of medicines 25,000 By Furniture 1,20,000
To Sale of old materials 6,000 By Printing and Stationery 5,000
By Purchase of medicines 15,000
By Office Expenses 2,000
By Balance c/d 2,09,000
6,41,000 6,41,000

Adjustments : ‘

i) On 31-12-2014 Printing and Stationery expenses prepaid amounted toX 5,000
ii) Salary payable toX 1,000
iii) Fees receivable from patients< 8,000
iv) Donations are to be capitalised.
On 1-1-2014, the hospital had the following balances in its books.

Building Rs. 5,00,000, Ambulance Van< 3,50,000, FurnitureX 1,00,000, Salary
payable 2,000, Building Fund< 3,00,000.

10. White, Black and Green were in partnership sharing profits and losses in the
ratio of 3: 2 : 1. On 1-1-2015, Black retires on which state date the Balance
Sheet was

Liabilities ¥ Assets 4
Bills payable 8,000 Cash 1,500
Creditors 12,000 Debtors ' 7,000
Capitals : Stock A 23,000
White | 24,000 Motor Vans 19,000
Black 20,000 Buildings 25,000
Green ' 16,000  Profit and Loss A/c 4,500

80,000 80,000
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11.

12.

The terms are :
i) Goodwill was to be valued at¥ 15,000.
ii) The new ratio between White and Green will be 3: 2.
iif) Stock to be valued'at 25,400, Motor Vans to be valued at 10% less than the
book value, Buildings are to be valued at 10% more than the book value.
iv) The total capital of the newly constituted firm was to be ¥ 60,000 and capitals
of White and Green were to be in their profit sharing ratio, adjustments to be

made in cash. Prepare Revaluation Account, Capital Accounts of partners
and the Balance Sheet of the new firm.

Hafish and Girish agreed to dissolve the partnership on 31t December, 2014 on
which date their Balance Sheet was as follows :

Balance Sheet as at 31! December, 2014

Liabilities I  Assets 4
Creditors 8,000 Cash atBank 4,000
Girish’s Loan 6,000 Debtors 6,000
Reserve Fund 6,000  Stock 20,000
Capital Accounts : Furniture 4,000
Harish 20,000 Plant and Machinery 18,000
Girish 15,000 35,000  Goodwill 3,000
55,000 55,000

The partners share profit and loss equally. The assets realised as follows :
Stock Rs. 28,000, Debtors X 5,800, Furniture X 3,700 and Plant and Machinery
¥ 17,000. The creditors were paid off at 5% discount. The cost of dissolution
amounted toX 500.

Prepare necessary Ledger Accounts to close the books of the firm.

Mr. Raj consigns to Ramesh 40 cases of goods at a cost 0f¥ 5,000 per case and
incurs the following expenses in connection with the same, viz., cartage ¥ 940,
freight ¥ 3,480 and insurance ¥ 12,500. On arrival of the goods, Mr. Ramesh
pays clearing charges< 3,120, cartage X 960 and godown rent¥ 200. Six cases
are destroyed by fire and a sum of ¥ 30,000 is realised from the insurance
company by way of compensation. Out of the remaining 34 cases, 24 cases are
sold at a total price of ¥ 2,20,000. Mr. Ramesh is entitled to an ordinary
commission of 5% and 2% del credere commission on sales in addition to
reimbursement of expenses incurred. He sends to Mr. Raj an Account Sales
together with a bank draft for the balance due to Mr. Raj. In the Books of Mr. Raj,
show the Consignment Account and Mr. Ramesh’s Account. Also pass the journal
entries in the books of Mr. Ramesh.
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Credit Based Il Semester B.B.M. Degree Examination, April/May 2015
(2006 Scheme)
ACCOUNTING - Il

Time : 3 Hours Max. Marks : 80

Note : 1) Provide working notes wherever necessary.
2) Follow the instructions strictly.

SECTION-A
(1 mark each) (1x10=10)
1. Answer any ten of the following in one or two sentences :
a) Whatis partnership deed ?
b) Give the meaning of sacrifice ratio.
¢) What is a non-trading concern ?

d) How do you treat entrance fees received by a non-trading concern ?

e) What is capital fund ?

f) Mention any two differences between receipts and payments A/c and Income
and Expenditure A/c.

g) What is proforma invoice ?

h) What is del-credre commission ?

i) What is joint life policy ?

j) Why is single entry system an incomplete system of book keeping ?
k) What is ‘statement of affairs’ ?

I) What is a realization A/c ?

P.T.O.
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SECTION-B ;
(5 marks each’) + 1 (5xE

Answer any five of the following questions :

2. Classify the following into revenue and capital receipt/expenditure.

‘a) Life membership fees received.
b) Wages paid to workers for installation of machinery.
¢) Sale proceeds of old tennis balls.
d) Prize amount of Rs. 2 lakhs received from the Karnataka State Lottery.
e) Prizes awarded to students on the College day.

3. Hari, Hara and Om are partners sharing profits in the ratio of 2 : 2 : 1. Thei
Balance-Sheet as on 31t December, 2014 was as follows :

Liabilities T Assets 3
Capital A/cts
Hari 20,000  Furniture 24,000
Hara 20,000 Stock 44,000
Om 20,000 Debtors 16,000
Reserve Fund 15,000 Cash 1,000
Sundry creditors 10,000

' 85,000 85,000

Om died on 1-4-2015 and his executors were entitled for the following :
a) Om’s capital as on the date of death.

b) His share of goodwill to be calculated on the basis of 2 years purchase of the
average profits of last 3 years. The three years profits were :

20123 8,000, 2013% 12,500 and 2014 X 9,500.

c) His share of accrued profit to the date of death based on average profits o
last 3 years. -

d) Salary at ¥ 500 per month.

\‘.‘ }
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4. Dimpu, Rimpu and Timpu were partners in a firm sharing profit and losses in the
ratioof 2: 1 : 1. On the date of dissolution their Balance Sheet was as follows :

Liabilities 4 Assets 4
Creditors 28,000 Buildings
Capitéls Plant
Dimpu 20,000 Stock
Rimpu 20,000 Debtors
Timpu 12,000
80,000 80,000

The assets realised ¥ 68,000 and it was received in installments of X 28,000,
¥ 20,000 and X 20,000. Prepare statement showing distribution of cash under
surplus capital method.

5. From the information given below calculate total sales :

4

1) Opening debtors 15,000

2) Closing debtors 18,000

3) Cash received from debtors 30,000
(including cash from bills receivable)

4) Opening Bills Receivable 8,000

5) B/R received during the year 16,000

13
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6) Closing B/R 10,000
7) Bad debts written off during the year 1,000
8) Cashsales 25,000

6. Anil and Sunil are partners sharing profits in the ratio of 3 : 2. They admit Rahul
and decided to share future profits in the ratio of 2 : 2 : 1. Pass journal entries for
the following:

i) Rahul brings ¥1,00,000 towards his capital.

i) Rahul brings ¥ 40,000 as his share of goodwill and which is withdrawn by
the old partners immediately.

7. Distinguish between single-entry and double-entry system of accounting.

8. What is revaluation account ? Why and how is it prepared ?

SECTION-C

(15 marks each) (15%3=4¢

Answer any three of the following :

9. Mangalore Sports Club gives you the following Recelpts and Payments Alc for
the year ending 315 March 2014.

Recelpts ¥  Payments 4
To balance b/d : By up keep of ground 3,000

Cash 300 By machinery purchased 2,200

Bank 4200 Byrent 1,000
To subscriptions | 11,600 By salaries | 6,600
To match fund . 3,000 By secretary’s honorarium 600
To life membership fees 4,000 By sports equipment 2,400
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10.

To entrance fees 400
To donation for buildings 6,000

To sale of old sports materials 200

29,700

Additional information :

1) Subscriptions due on 31-3-2013 and on 31-3-2014 were T 1 ,800 and 1,600
respectively.

2) Subscriptions received also include subscriptions for 2014-15 % 400.

3) Sports equipment on hand on 31-3-2013 was % 2,200. The value of sports
equipment on hand on 31-3-2014 was % 2,600.

4) Depreciate machine at 20%.

5) Office expenses due for payment on 31-3-2013 T 600 and Z 800 are still due
for payment on 31-3-2014.

6) Salaries include % 1,000 for 2012-13 and ¥ 800 for the year2014-15 and
¥ 1,200 is still due for payment as salaries on 31-3-2014.

7) Buildings were valued 3 60,000 on 31-3-2013 and on 31-3-2014 % 58,000.

Prepare Income and Expenditure Account for the year ending 31 3 2014 and
a Balance-Sheet as on that date.

Virat, Sachin and Shikhar were partners sharing profits in the ratioof 3: 2 : 1.
On 1%tJanuary, 2015 Sachin retired. On that date their Balance-Sheet was as follows :

Liabilities ’ 4 Assets 4
Creditors - 1,10,000 ~ Plant 3,00,000
Bills payable 50,000 Patents 30,000

%
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Expenses owing = 20,000 Debtors 95,000
General Reserve : 80,000  Stock 1,10,000
Capitals : 3 Cash 5,000
Virat 1,20,000 P/LA 30,000
Sachin 1,00,000
Shikhar 90,000
5,70,000 5,70,000
The terms were :

1) Goodwill of the firm was valued at ¥ 1,20,000 but no goodwill account was to
be raised.

2) New ratio between Virat and Shikhar will be 3 : 2.

3) Expenses owing are to be brought down to ¥ 15,000, Plant is to be valued at
10% less and patents at ¥ 40,000.

4) Provision for bad debt is to be maintained at 5%.

5) The capital of the new firm will be fixed at ¥ 2,50,000 to be contributed by
partners in profit sharing ratio.

Prepare necessary ledger accounts to record the above and prepare Balance-Sheet
of the new firm.

11. Casio Co. Ltd., Mumbai consigned 100 calculators to Mangalore Stationery Mart
invoiced at X 350 each. The cost price was % 280 each. On sending the goods,
Casio Co. Ltd. paid freight ¥ 2,000 and insurance ¥ 1,000. During transit,
10 calculators were totally damaged by fire and the Insurance Co. paid ¥ 2,000
directly to the consignor in full settlement of the claim.

Consignee took delivery of the remaining calculators and paid ¥ 1,000 towards
freight and ¥ 800 towards carriage. They sent a bank draft for ¥ 25,000 and later
on, account sales showing that 75 calculators were sold at X 480 each. Expenses
of consignee on godown rent and advertising were ¥ 1,500. They are entltled toa
commission of 6% on sales and 12% delcredre.

Assuming that consignee paid the amount by bank draft, show the necessary
ledger accounts in the books of Casio Co. Ltd.
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12. X, Y and Z sharing profits in the proportion of 4 : 3 : 1 agreed upon dissolution of
their partnership on 31-12-2014, on which date their Balance Sheet was as under:

Liabilities X  Assets 3
Capital A/cts : Machinery 15,000
X 15,000  Stock 4,000
Y 8,000  Investments 6,000
Joint Life Policy Fund : 4,400 Joint Life Policy 4,400

Investment fluctuation fund 1,000 Debtors: 2,800

Profit and Loss A/c 1,000 Less:RBD 200 2,600
Bank loan 4,000 Z’s capital Alc 3,200
Creditors 6,000 Bank 4,200

39,400 39,400

The investments are taken over by X for ¥ 4,400. Y takes over the stock at
X 3,000 and debtors amounting to ¥ 1,600 at ¥ 1,200. The life policy was
surrendered for X 3,900. Machinery was sold at ¥ 14,200. The remaining debtors
were realised 75% of book value. Creditors were paid % 5,800 in full settlement.
The expenses of realisation amounted to % 200.

Prepare necessary ledger accounts to close the books of the firm. -
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Credit Based |l Semester B.B.M. Degree Examination, April/May 2015
(2012 Scheme)
MANAGERIAL COMMUNICATION

Time : 3 Hours Max. Marks : 80

Note: 1) Asingle answer booklet containing 40 pages will be issued.
No additional sheets will be issued.

2) Read the instructions carefully in each Section.

SECTION-A (1x10=10)
(One mark each)

Answer any ten of the following in not more than 2 or 3 sentences each :

1. a) Define Formal Communication.
b) What is CIF Price ?
¢) What is meant by communication net work ?
d) What do you mean by consensus ?
e) What is Gesture ?
f) Give the meaning of ‘Fully Blocked’ form of a letter.
g) What are confirmation letters ?
h) What are statutory reports ?
i) When do you use the term ‘Misdames’ in a business letter ?
j) What is meant by ‘claim’ in a letter of complaint ?
k) What is video-conferencing ?
I) Why written communication is preferred to oral commu;ication ?
‘SECTION-B 12§ &/ |(65=25)
(Fivemarkseach) '~ . 7 £ o/

Answer any five of the following in not more than 2 pages; each gl _te
2. Write a brief note on the use of audio-visual aids in report w\F’if’ing?

3. Explain any five barriers to business communication.

P.T.O.
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5. Drafta letter to an applicant for appearing
operator.

6. Draft a letter to Surya Umbrella’s Ltd., Bangalore, placing an urgent order for
different varieties of umbrellas required for the forthcoming rainy season.

7 V\ifite aletter from Shreyas Electronics, Bangalore to a firm in Mangalore giving
quotations for the supply of various home appliances.

8. Draft a circular letter regarding opening of new branch of your gold shop in the
city of Mangalore.

SECTION-C (15%3=45)
(15 marks each)
Answer the following questions in not more than 6 pages each :

.. 9. Define Business communication. Explain the various objectives of Business
communication.

OR

What is upward and downward communication ? Explain the various methods
involved and their importance.

10. @) Whatis a complaint letter ? What are the various reasons of writing it ? Also

narrate the various points to be noted while writing it. 7

b) Drafta complaint letter to your seller regarding the suiting and shirtings differing
from the samples. , 8

OR

a) What are collection letters ? Explain the various steps involved in a collection
series. Highlight to the points to be noted while writing them. 7

b) Draft a collection letter to a customer whose dues for purchase of electronic
home appliances worth ¥ 50,000 are not settled in spite of two reminders. 8
11. a) What is meant by ‘Business Report’ ? What are its types ? 7

b) Draft a report from the market research committee of a Textile Company in
Mumbai on the failure of their readymade garments in the market. 8
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Credit Based Second Semester B.B.M. Degree E)gamination, April/May 2015
(2012 Scheme)—
ACCOUNTING - 1l

Time : 3 Hours Max. Marks : 80

Note : i) A single answer booklet containing 40 pages will be issued.
No additional sheets will be issued.
ii) Show working notes wherever necessary.

SECTION - A (One markeach)

1. Answerany ten of the following questions inone or twosentences each : (1x10=10)

a) What is Goodwill ?

b) Pass an entry for the decrease in the balance of sundry creditors at the time
of revaluation.

c) How do the old partners share the goodwill amount brought by new partner in
cash ?

d) How is the deceased partner’s capital account closed ?

e) State any two reasons for dissolution of a partnership firm.

f) What is meant by capital deficiency ?

g) What is meant by piece-meal distribution of cash on the dissolution of a
partnership firm ?

h) What is the meaning of consignment ?

i) How will you treat bad debts when the consignee gets del-credere commission ?

j) Give any two examples of Non-Trading Concerns.

k) What is a legacy ?

I) What is Revenue Receipt ?

SECTION - B (Five marks each) (5%5=25)
Answer any five of the following :
2. What are the differences between consignment and sale ?

3. State the differences between Capital Expenditure and Revenue Expenditure.

%lassify the following into Capital or Revenue Expenditure/Receipt,
a) X —Ray plant purchased by a hospital.
b) Subscription to newspapers.
c) Legacies received.
d) Receipt of Entrance Fees.
e) Subsidy received from the Government.

10
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5. Suresh, Naresh and Rajesh were partners sharing profits and losses in the ratio
of 2: 2 1. Suresh retires. His share in the business is absorbed by Naresh and
Rajesh in the ratio of 5 : 3. Find out the new profit sharing ratio of the remaining
partners and the gain ratio.

6. Roopa; Suma and Shubha are partners sharing profits and losses in the ratio of
2:2: 1. Their Balance Sheet as on 31-12-2014 was as follows :

Liabilities T Assets 4
Creditors 50,000 Cash 10,000
Bills payable 20,000 Bills receivable 15,000
Capitals : Stock 1,25,000
Roopa 1,00,000 Debtors 1,50,000
Suma 80,000 Furniture 50,000
Shubha 70.000 2,50,000
Reserve 30,000

3,50,000 3,50,000

Shubha died on 31-3-2015. Her dependents will entitle to the following :
i) Her capital and share of reserve on the date of death.

i) Her share of goodwill. The goodwill is to be ascertained on the two years’ purchase
value of the last three years’ average profits. The profits for the last three
years were :

2012-% 1,00,000, 2013-% 1,20,000 and 2014-X 1,40,000.

iii) Her share in the profits for the year 2015 till the date of her death. The profit of
2014 can be taken as the profit for 2015.

Ascertain the amount due to Shubha’s executors.

7. M. N and O were partners in a firm sharing profit and losses in the ratio of 2:: 1 : 1,
respectively. On the date of dissolution, their Balance Sheet was as follows :

Liabilities 4 Assets T
Creditors 28,000 Sundry Assets 80,000
Capital Accounts :
M 20,000
N 20,000
@) 12,000
80,000 80,000

The assets realised ¥ 68,000 and it was received in installments of ¥ 28,000,
¥ 20,000 and % 20,000. Prepare a statement showing distribution of cash under
surplus capital method.

" 8. Lion sent 100 bicycles costing ¥ 2,000 each to Tiger to be sold at his risk. Tiger
was to get for his services a commission at 6% on bicycles sold and was
reimbursed for expenses. Lion paid¥ 4,000 towards freight and insurance. Tiger
took delivery of consignment by paying X 1,000 for carriage and unloading and
¥ 2,000 for salesmen’s salaries, godown rent etc. Tiger sold 50 bicycles at
% 2,250 each for cash and 30 bicycles on credit atZ 2,400 each. Tiger settled his
account with Lion on 31% December, 2014. Prepare Consignment Account in
Lion’s books.

L]
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SECTION - C (Fifteen marks

Answerany three of the following :

Q/From the following particulars relating to BCM Hospital,
Expenditure Account for the year ended 31-12-2014 and Balance Sheet as on
that date.

Receipt and Payment A/c for the year ended 31-12-2014

Dr. - Cr.
Receipts ¥ Payments X
To Balance b/d 60,000 By Doctor’s honorarium 30,000
To Donations 4,00,000 By X-Ray equipment 2,50,000
To Fees from patients 1,50,000 By Salary 10,000
To Receipts from sale of medicines 25,000 By Furniture 1,20,000
To Sale of old materials 6,000 By Printing and Stationery 5,000
By Purchase of medicines 15,000
By Office Expenses 2,000
By Balance c/d 2,09,000
6,41,000 6,41,000

Adjustments : ‘

i) On 31-12-2014 Printing and Stationery expenses prepaid amounted toX 5,000
ii) Salary payable toX 1,000
iii) Fees receivable from patients< 8,000
iv) Donations are to be capitalised.
On 1-1-2014, the hospital had the following balances in its books.

Building Rs. 5,00,000, Ambulance Van< 3,50,000, FurnitureX 1,00,000, Salary
payable 2,000, Building Fund< 3,00,000.

10. White, Black and Green were in partnership sharing profits and losses in the
ratio of 3: 2 : 1. On 1-1-2015, Black retires on which state date the Balance
Sheet was

Liabilities ¥ Assets 4
Bills payable 8,000 Cash 1,500
Creditors 12,000 Debtors ' 7,000
Capitals : Stock A 23,000
White | 24,000 Motor Vans 19,000
Black 20,000 Buildings 25,000
Green ' 16,000  Profit and Loss A/c 4,500

80,000 80,000
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11.

12.

The terms are :
i) Goodwill was to be valued at¥ 15,000.
ii) The new ratio between White and Green will be 3: 2.
iif) Stock to be valued'at 25,400, Motor Vans to be valued at 10% less than the
book value, Buildings are to be valued at 10% more than the book value.
iv) The total capital of the newly constituted firm was to be ¥ 60,000 and capitals
of White and Green were to be in their profit sharing ratio, adjustments to be

made in cash. Prepare Revaluation Account, Capital Accounts of partners
and the Balance Sheet of the new firm.

Hafish and Girish agreed to dissolve the partnership on 31t December, 2014 on
which date their Balance Sheet was as follows :

Balance Sheet as at 31! December, 2014

Liabilities I  Assets 4
Creditors 8,000 Cash atBank 4,000
Girish’s Loan 6,000 Debtors 6,000
Reserve Fund 6,000  Stock 20,000
Capital Accounts : Furniture 4,000
Harish 20,000 Plant and Machinery 18,000
Girish 15,000 35,000  Goodwill 3,000
55,000 55,000

The partners share profit and loss equally. The assets realised as follows :
Stock Rs. 28,000, Debtors X 5,800, Furniture X 3,700 and Plant and Machinery
¥ 17,000. The creditors were paid off at 5% discount. The cost of dissolution
amounted toX 500.

Prepare necessary Ledger Accounts to close the books of the firm.

Mr. Raj consigns to Ramesh 40 cases of goods at a cost 0f¥ 5,000 per case and
incurs the following expenses in connection with the same, viz., cartage ¥ 940,
freight ¥ 3,480 and insurance ¥ 12,500. On arrival of the goods, Mr. Ramesh
pays clearing charges< 3,120, cartage X 960 and godown rent¥ 200. Six cases
are destroyed by fire and a sum of ¥ 30,000 is realised from the insurance
company by way of compensation. Out of the remaining 34 cases, 24 cases are
sold at a total price of ¥ 2,20,000. Mr. Ramesh is entitled to an ordinary
commission of 5% and 2% del credere commission on sales in addition to
reimbursement of expenses incurred. He sends to Mr. Raj an Account Sales
together with a bank draft for the balance due to Mr. Raj. In the Books of Mr. Raj,
show the Consignment Account and Mr. Ramesh’s Account. Also pass the journal
entries in the books of Mr. Ramesh.
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Credit Based Il Semester B.B.M. Degree Examination, April/May 2015
(2006 Scheme)
ACCOUNTING - Il

Time : 3 Hours Max. Marks : 80

Note : 1) Provide working notes wherever necessary.
2) Follow the instructions strictly.

SECTION-A
(1 mark each) (1x10=10)
1. Answer any ten of the following in one or two sentences :
a) Whatis partnership deed ?
b) Give the meaning of sacrifice ratio.
¢) What is a non-trading concern ?

d) How do you treat entrance fees received by a non-trading concern ?

e) What is capital fund ?

f) Mention any two differences between receipts and payments A/c and Income
and Expenditure A/c.

g) What is proforma invoice ?

h) What is del-credre commission ?

i) What is joint life policy ?

j) Why is single entry system an incomplete system of book keeping ?
k) What is ‘statement of affairs’ ?

I) What is a realization A/c ?

P.T.O.
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SECTION-B ;
(5 marks each’) + 1 (5xE

Answer any five of the following questions :

2. Classify the following into revenue and capital receipt/expenditure.

‘a) Life membership fees received.
b) Wages paid to workers for installation of machinery.
¢) Sale proceeds of old tennis balls.
d) Prize amount of Rs. 2 lakhs received from the Karnataka State Lottery.
e) Prizes awarded to students on the College day.

3. Hari, Hara and Om are partners sharing profits in the ratio of 2 : 2 : 1. Thei
Balance-Sheet as on 31t December, 2014 was as follows :

Liabilities T Assets 3
Capital A/cts
Hari 20,000  Furniture 24,000
Hara 20,000 Stock 44,000
Om 20,000 Debtors 16,000
Reserve Fund 15,000 Cash 1,000
Sundry creditors 10,000

' 85,000 85,000

Om died on 1-4-2015 and his executors were entitled for the following :
a) Om’s capital as on the date of death.

b) His share of goodwill to be calculated on the basis of 2 years purchase of the
average profits of last 3 years. The three years profits were :

20123 8,000, 2013% 12,500 and 2014 X 9,500.

c) His share of accrued profit to the date of death based on average profits o
last 3 years. -

d) Salary at ¥ 500 per month.

\‘.‘ }
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4. Dimpu, Rimpu and Timpu were partners in a firm sharing profit and losses in the
ratioof 2: 1 : 1. On the date of dissolution their Balance Sheet was as follows :

Liabilities 4 Assets 4
Creditors 28,000 Buildings
Capitéls Plant
Dimpu 20,000 Stock
Rimpu 20,000 Debtors
Timpu 12,000
80,000 80,000

The assets realised ¥ 68,000 and it was received in installments of X 28,000,
¥ 20,000 and X 20,000. Prepare statement showing distribution of cash under
surplus capital method.

5. From the information given below calculate total sales :

4

1) Opening debtors 15,000

2) Closing debtors 18,000

3) Cash received from debtors 30,000
(including cash from bills receivable)

4) Opening Bills Receivable 8,000

5) B/R received during the year 16,000

13
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6) Closing B/R 10,000
7) Bad debts written off during the year 1,000
8) Cashsales 25,000

6. Anil and Sunil are partners sharing profits in the ratio of 3 : 2. They admit Rahul
and decided to share future profits in the ratio of 2 : 2 : 1. Pass journal entries for
the following:

i) Rahul brings ¥1,00,000 towards his capital.

i) Rahul brings ¥ 40,000 as his share of goodwill and which is withdrawn by
the old partners immediately.

7. Distinguish between single-entry and double-entry system of accounting.

8. What is revaluation account ? Why and how is it prepared ?

SECTION-C

(15 marks each) (15%3=4¢

Answer any three of the following :

9. Mangalore Sports Club gives you the following Recelpts and Payments Alc for
the year ending 315 March 2014.

Recelpts ¥  Payments 4
To balance b/d : By up keep of ground 3,000

Cash 300 By machinery purchased 2,200

Bank 4200 Byrent 1,000
To subscriptions | 11,600 By salaries | 6,600
To match fund . 3,000 By secretary’s honorarium 600
To life membership fees 4,000 By sports equipment 2,400
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To entrance fees 400
To donation for buildings 6,000

To sale of old sports materials 200

29,700

Additional information :

1) Subscriptions due on 31-3-2013 and on 31-3-2014 were T 1 ,800 and 1,600
respectively.

2) Subscriptions received also include subscriptions for 2014-15 % 400.

3) Sports equipment on hand on 31-3-2013 was % 2,200. The value of sports
equipment on hand on 31-3-2014 was % 2,600.

4) Depreciate machine at 20%.

5) Office expenses due for payment on 31-3-2013 T 600 and Z 800 are still due
for payment on 31-3-2014.

6) Salaries include % 1,000 for 2012-13 and ¥ 800 for the year2014-15 and
¥ 1,200 is still due for payment as salaries on 31-3-2014.

7) Buildings were valued 3 60,000 on 31-3-2013 and on 31-3-2014 % 58,000.

Prepare Income and Expenditure Account for the year ending 31 3 2014 and
a Balance-Sheet as on that date.

Virat, Sachin and Shikhar were partners sharing profits in the ratioof 3: 2 : 1.
On 1%tJanuary, 2015 Sachin retired. On that date their Balance-Sheet was as follows :

Liabilities ’ 4 Assets 4
Creditors - 1,10,000 ~ Plant 3,00,000
Bills payable 50,000 Patents 30,000

%
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Expenses owing = 20,000 Debtors 95,000
General Reserve : 80,000  Stock 1,10,000
Capitals : 3 Cash 5,000
Virat 1,20,000 P/LA 30,000
Sachin 1,00,000
Shikhar 90,000
5,70,000 5,70,000
The terms were :

1) Goodwill of the firm was valued at ¥ 1,20,000 but no goodwill account was to
be raised.

2) New ratio between Virat and Shikhar will be 3 : 2.

3) Expenses owing are to be brought down to ¥ 15,000, Plant is to be valued at
10% less and patents at ¥ 40,000.

4) Provision for bad debt is to be maintained at 5%.

5) The capital of the new firm will be fixed at ¥ 2,50,000 to be contributed by
partners in profit sharing ratio.

Prepare necessary ledger accounts to record the above and prepare Balance-Sheet
of the new firm.

11. Casio Co. Ltd., Mumbai consigned 100 calculators to Mangalore Stationery Mart
invoiced at X 350 each. The cost price was % 280 each. On sending the goods,
Casio Co. Ltd. paid freight ¥ 2,000 and insurance ¥ 1,000. During transit,
10 calculators were totally damaged by fire and the Insurance Co. paid ¥ 2,000
directly to the consignor in full settlement of the claim.

Consignee took delivery of the remaining calculators and paid ¥ 1,000 towards
freight and ¥ 800 towards carriage. They sent a bank draft for ¥ 25,000 and later
on, account sales showing that 75 calculators were sold at X 480 each. Expenses
of consignee on godown rent and advertising were ¥ 1,500. They are entltled toa
commission of 6% on sales and 12% delcredre.

Assuming that consignee paid the amount by bank draft, show the necessary
ledger accounts in the books of Casio Co. Ltd.
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12. X, Y and Z sharing profits in the proportion of 4 : 3 : 1 agreed upon dissolution of
their partnership on 31-12-2014, on which date their Balance Sheet was as under:

Liabilities X  Assets 3
Capital A/cts : Machinery 15,000
X 15,000  Stock 4,000
Y 8,000  Investments 6,000
Joint Life Policy Fund : 4,400 Joint Life Policy 4,400

Investment fluctuation fund 1,000 Debtors: 2,800

Profit and Loss A/c 1,000 Less:RBD 200 2,600
Bank loan 4,000 Z’s capital Alc 3,200
Creditors 6,000 Bank 4,200

39,400 39,400

The investments are taken over by X for ¥ 4,400. Y takes over the stock at
X 3,000 and debtors amounting to ¥ 1,600 at ¥ 1,200. The life policy was
surrendered for X 3,900. Machinery was sold at ¥ 14,200. The remaining debtors
were realised 75% of book value. Creditors were paid % 5,800 in full settlement.
The expenses of realisation amounted to % 200.

Prepare necessary ledger accounts to close the books of the firm. -
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Credit Based |l Semester B.B.M. Degree Examination, April/May 2015
(2012 Scheme)
MANAGERIAL COMMUNICATION

Time : 3 Hours Max. Marks : 80

Note: 1) Asingle answer booklet containing 40 pages will be issued.
No additional sheets will be issued.

2) Read the instructions carefully in each Section.

SECTION-A (1x10=10)
(One mark each)

Answer any ten of the following in not more than 2 or 3 sentences each :

1. a) Define Formal Communication.
b) What is CIF Price ?
¢) What is meant by communication net work ?
d) What do you mean by consensus ?
e) What is Gesture ?
f) Give the meaning of ‘Fully Blocked’ form of a letter.
g) What are confirmation letters ?
h) What are statutory reports ?
i) When do you use the term ‘Misdames’ in a business letter ?
j) What is meant by ‘claim’ in a letter of complaint ?
k) What is video-conferencing ?
I) Why written communication is preferred to oral commu;ication ?
‘SECTION-B 12§ &/ |(65=25)
(Fivemarkseach) '~ . 7 £ o/

Answer any five of the following in not more than 2 pages; each gl _te
2. Write a brief note on the use of audio-visual aids in report w\F’if’ing?

3. Explain any five barriers to business communication.

P.T.O.
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5. Drafta letter to an applicant for appearing
operator.

6. Draft a letter to Surya Umbrella’s Ltd., Bangalore, placing an urgent order for
different varieties of umbrellas required for the forthcoming rainy season.

7 V\ifite aletter from Shreyas Electronics, Bangalore to a firm in Mangalore giving
quotations for the supply of various home appliances.

8. Draft a circular letter regarding opening of new branch of your gold shop in the
city of Mangalore.

SECTION-C (15%3=45)
(15 marks each)
Answer the following questions in not more than 6 pages each :

.. 9. Define Business communication. Explain the various objectives of Business
communication.

OR

What is upward and downward communication ? Explain the various methods
involved and their importance.

10. @) Whatis a complaint letter ? What are the various reasons of writing it ? Also

narrate the various points to be noted while writing it. 7

b) Drafta complaint letter to your seller regarding the suiting and shirtings differing
from the samples. , 8

OR

a) What are collection letters ? Explain the various steps involved in a collection
series. Highlight to the points to be noted while writing them. 7

b) Draft a collection letter to a customer whose dues for purchase of electronic
home appliances worth ¥ 50,000 are not settled in spite of two reminders. 8
11. a) What is meant by ‘Business Report’ ? What are its types ? 7

b) Draft a report from the market research committee of a Textile Company in
Mumbai on the failure of their readymade garments in the market. 8




